BAKAR)=F LB Eit 3 KE13
TEH4 o JREPHIA K E AR L \é/l %D
B —— HPPE ¢ 150 L= 82.6 m
x5 2B V2 NINREA g | BAL| R | B [ AR | HEAL -
EXE EFF % 6] A 5.00 | m 80.00 | m
2|10 H N 0.80 | m 0.80 | m |BIFRYIEHHE
3B Z. AEES 0.80 | m 0.80 | m |BIFRYIEHEE
HE ek HEES 81.60 | m
4|EF sz R [ ¢ 150 (45° ) 2l A | 049 m 0.98] m
Hh & 2= O E 0.98 | m
5[HIVPF+ >~ ¢ 150 IIRE m m
6|77 ft @i LLSP 7.5K e m m
T h=hmn%yy7° (K) $ 100 & m m
8|PESR 11y 7 b=t | ¢ 100 N m m
glpCraA $ 150 1 & m m
INENC AU é 150 1| A m m
11| E (ME25) | ¢ 350 H700H j i m m
12 ¢ 350 H12004 1| #H m m
13| Rl 1k P (K) 675 1 m m
14|17 dhd 1 P (K) ¢ 100 1] m m
15|@kpl~—J— 3 A m m
17| EHRT—7 W=50mm 82.6/| m m m
18[HREE R —F  |IE400mm 82.6] m m m
m m
%@f’@/ﬁ\%‘ m
i THE 82.58 m
Giike2 0 B HEES AL | WAL S
9| RV F L AR L|EE S 81.6 | + 0.98] m 82.6 | m
20| B T (Afi%) HPPE ¢ 150 2| 7P
21| W T (BE%) DCIP ¢ 150 1] 77
21 HIVP ¢ 150 1] 7 p7
22|l A RS L 1034 ¢ 150 20| 7 AT
23|HIVPX Y 7 5% & ¢ 150 1| # 7T
24| AT =T VARTF T ¢ 150 (K) 1| »f
25| A =H VAT L 6 150 (HPPE) 2| 2P
26 (A=A FESNL L | ¢ 150 2| 7P |BERR S B L
27| Rk L7 3R E T 1 7Pt
28| F B E L (MF2%5) |¢ 350 H700H Vil
29 6350 H1200H 1| 7P
30|HIVPHE [ 2 m
312r—T4 74 —fRE T 82.6| m
2/EH T —7 T W=50mm 82.6| m
34| IRy —h L W=400mm 82.6/ m
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T = 4 . FREHAKE AR TS
DCIP ¢ 150mm L= 146.80 m
EXi JHAS E | HA| EE | B ARIEE | BAL i =
[EXE SFRE iR U HHIER AR 28] A 5. 000 m 140. 000 m
b o 1.400 | m 1.400 | m PP
79 1A 3.600 | m 3600 | m | IVEE
BE AaF 29| K [EXESIS 145.000 | m
s gl ¢ 75%45° ] 0.137 m m
® 150%45° 2| fA 0.464 | m 0.928 | m
6 150%22° 1/2 [H 0.409 | m m
6 150%11° 1/4 2| fA 0.370 | m 0.740 | m
6 150%5° 5/8 [H 0.370 | m m
i F 45 4] MR 1.668 | m
SAF S U = A& do 3| & 0.039 | m 0.117 | m [(A-Y) 18
Fiiig (GX) ¢ 150 & wh-Fyb-a" bgETe 3| #H
G-Link $ 150 1]
PC-J $ 150 1] {& m m
VC-J $ 150 1] {& m m
HIVPF v » 7 $ 150 1 f&
Ak~ — B — K 147. 6kHz 5| A
”‘Sﬁﬂﬁ“?‘ v g 50mm 146.8| m
HIERE TRy — b |1E400mm 146.8| m
Z DA e 13| »p |l ZFOMIEE 0.117 | m
it T AR 146.785 m
24 BR T G Th g i & | FLy T =
figk L. EEAGHEEELSG 146.8 | m
Yk T ] DCIP TV v — FikE 1| »Fr
Gl HIVP TV F— BERE 2 | 7t
GXiffkF T [EREEY 28 + 1 29 | » AT
IR 3 | »Hr
FIEAEER G-Link ¢ 75 BIEEE
A= ANAHEFETL [ (K) ¢ 150 2 | 77 |k
HIVP ¢ 150 2 | 7 Pt | Ry =F Lo mRT LR
HIVPZ v v 75IE | ¢ 150 1| 7t
HIVPHE PEER & 2| m
Ry 7B Y% E ¢ 150 1] =X
nr=5 10" VAR E 146.8 | m
BHRT—T7L W=50mm GX 146.8 | m
Ry — ML W=400mm 146.8 | m
K ) xFLva) -7 gerE T 146.8 | m
J("*EI 0.5 | H
Bt ﬁ!g{ﬁux%
F K EER T FE K B AN B 0.46 | H [146.8+82.6)/500
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(5—FNo, ) i ) FHAEAE & | WA
AstIHr
115 17 (458.8+0.6+0.6)+ 445 [H (4.4+2.8+11.8+2.8+2.8+198.2+2.8+8.5) 694.1 690|m
AsHIEHY
IR IR(137.6)+ 412 IH (1088.5) 1226.1 1230|m2
AsTEHR(1IK)
L=1.5km DT4t DID 1 [X 48 (AR (137.6%0.03) +A<4 1 (1088.5%0.06) +#A /K (0.5) 69.9 70|m3
FiA
e 69.9 70{m3
AsiEHR2IK)
L=27.4km DT10t DID X 4 69.9 70[m3
AsBlLsy
(MRt IR pE 69.9%2.35 164.3 164|t
A
BHO0.28 153.3 150|m3
PR (RD)
BHO0.28 59.8 60{m3
MR (384 1)
BHO0.28 m3
W (A7)
BHO0.28 48.2 48|m3
7 aE
[.=26.4km DT4t DID 1 [X f 153.3+fa7K & 12.0 165.3 170{m3
A
7% 52 AHh 165.3 170{m3
T A T
t=0.20m RC40-0 137.6 138{m2
e A T
t=0.12m M-25 137.6 138{m2
(A
t=0.03m FEEAS1S  FLAIHCA 4% 137.6 138|m2
AR IE
A A4 T mRg AR E LY 1088.5 1090{m2
=l
t=0.05m HBAS20F 79 ha—b  mEREEHEELY 1088.5 1090|m2




TIHE BAAEEE
_— EE ASE ’i]iﬁ Asj‘dﬁg i : HRE GEE _ : g x As?ﬁ%ﬁﬁﬁyﬁ . : BER .
S8 |AEEE i HEL | BA As fiEHl L HEL | BA il BUE L x4+ | BA
B L m N t/m3 H H H H W w w w w m m2 Y, Y, Y, Y,
HPPE 82.60 0.06 2 2.35 1.12 0.48 0.35 0.60 0.60 0.60 060] 165.20 49.56 55.51 23.79 17.35
GX 146.80 0.06 2 2.35 1.11 0.47 0.35 0.60 0.60 0.60 060 ]| 293.60 88.08 97.77 41.40 30.83
H 229.40 45880 | 137.64] 153.28 65.19 48.18
EIERR  HPPE® 150 L= 82.6 m 0.18 * 0.18 * 3.14 = 4 * 82.6 = 2.1 m3
GX ¢ 150 L= 146.8 m 0.17 * 0.17 * 3.14 + 4 * 146.8 = 333 m3
B 543 m3
L 458.80 = 458.80 m
gL 137.64 = 137.64 m2
E i 137.64 * 0.06 = 8.26 m3
sy 8.26 * 2.35 = 1941 t
yEHI 153.28 = 153.28 m3
i 65.19 - 543 = 59.76 m3
FHeET = m3
»na 48.18 = 4818 m3
: 153.28 = 153.28 m3
TREBET 137.64 = 137.64 m3
tERET 137.64 = 13764 m3
RIEIBT 137.64 = 137.64 m3




P A =
I3} R - S 1
s LER i
0. .50
5. .50 6. 00 5.0 30.
40. .50 3. 50 35.0 122.
80. .50 3. 50 40.0 140.
120. .20 3. 85 40.0 154.
160. .30 4.25 40. 0 170.
180. .40 4.35 20.0 87.
180. . 60 3. 00
230. . 60 1. 60 50.0 80.
280. . 60 1. 60 50.0 80.
330. . 60 1. 60 50.0 80.
378. . 60 1. 60 48.2 77.
378. .40
380. .40 4. 40 1.8 7.
380. . 60
390. . 60 1. 60 10. 0 16.
390. .40
400. .40 4. 40 10. 0 44.
B 1, 088. 0.0 0.0 0.0




B BOKE AT T8

R 13
= A
KB ORIEERE 1)
B
Tl JH H K% EeRiva B o 2 3 4 5 6 7 i &
620 20| 20| ¢20| ¢ 20
o13| 13| ¢ 13| ¢ 13| ¢ 13
|5z AVERFEiAR| ¢ 150 X 20 | A 1 1
Bl sigeE iy ataki | ¢ 150 X 20 N 4 1 1 1 1
BEaT ¢ 20 I 4 1 1 1 1
B PEP ¢ 13 m
U ¢ 20 v |131.6] 6.0 6.4 6.4 6.4 6.4
Ui ¢ 25 Ui
i ¢ 30 i
) ¢ 40 /)
Ui ¢ 50 i
HIVP ¢ 13 AN dm/ARAHAEE)
)] ¢ 16 /] )
/i ¢ 20 /i i
PEMKT A—4— ¢ 13 1
U ¢ 20 N 10 2 2 2 2 2
U ¢ 25 U
/i ¢ 30 /i
Ui ¢ 40 Ui
Jl ¢ 50 /i
TURFYy 7 | 020 n
/] ¢ 25 /i
/i ¢ 30 /i
U ¢ 40 U
/i ¢ 50 /i
ST bk [rerxeintaz | ¢ 30 {E]
/i ¢ 40 /i
/) ¢ 50 i
PR =T ¢ 20 U
Ui ¢ 25 Ui
A=H—1k K ¢ 20 n
Vi ¢ 25 i
U 20 X 13 U 5 1 1 1 1 1
U 625 X 20 U
TLRL T T 613 X 500 | 1A
$20 X 500 N 5 1 1 1 1 1
¢ 25 X 500 U
K BiIEA—2— M| 6 13-20 1
IV A—%—F | 61320 i
1Rk Y7 A [VOS ]
e~ — A — il | 5.0 1 1 1 1 1
HEAE RS — [W=400 m | 31.6] 6.0 6.4 6.4 6.4 6.4
EHRT—7 [W=50 m | 31.6] 6.0 6.4 6.4 6.4 6.4




B BOKE AT T8

=13
= A
HRAKBOIRIEZERE £
o
i | B HAL| &5 620 6201 620] ¢20] 20 i &
013 ¢13| ¢13| ¢ 13| ¢ 13
5 KESAT [RVEH ¢ 150 X 20 |[#fr 1 1
% HrekE H 6150 X 20 | » 4 1 1 1 1
a7 st T $ 20 / 4 1 1 1 1
“Aim T |PEP ® 13 m
I $ 20 n | 31.6] 6.0/ 6.4 6.4 6.4 6.4
Ui b 25 Ui
U ¢ 30 U
i ¢ 40 J
Ui ¢ 50 Ui
HIVP $ 13 U
Ui ¢ 16 Ui
/] ¢ 20 /)l
) ¢ 25 /)
HWEF T PEMETF ¢ 13 5
I ¢ 20 I 10 2 2 2 2 2
U ¢ 25 U
i ¢ 30 J
U ¢ 40 U
/] ¢ 50 /]
TSHtF ¢ 13 Vbl
/] ¢ 16 /)l
Ui ¢ 20 Ui
Jl ¢ 25 Ui
Ui ¢ 30 Ui
/)l ¢ 40 J
i ¢ 50 /i
HE T T 613 I
I ¢ 20 I 5 1 1 1 1 1
U ¢ 25 U
/] ¢ 30 /]
Ui ¢ 40 Ui
Jl ¢ 50 /i
1B T[S L7 38 620 X 13 | »p7 5 1 1 1 1 1
$ 25 I
¢ 30 Ui
¢ 50 Ui
R E L | KT T |VOS Vil
FWfET. |VOS I
KRS T ¢ 13 Vabil
¢ 20 i
¢ 25 Ui
+TFE 4 THrm1 m | 14.6] 1.0/ 3.4 3.4| 3.4 3.4
1 T2 m |[17.0] 5.0/ 3.0/ 3.0/ 3.0/ 3.0
m
m
m
Y m | 31.6] 6.0/ 6.4 6.4 6.4 6.4 Mk
mEE Ry — [W=400 m |31.6] 60| 6.4 6.4 6.4 6.4
BRI —7 |[W=50 m |31.6] 6.0 6.4 6.4 6.4 6.4




KK TR A )

WOk B W B T +ITHERE
T f& FiE I SO S =il (=] 0 &
+T#
— TR
AL B .
A ST =15emBh I SR O T T R B ST T 5975 55T
Ak
ASTIESBURERL | 0 SR T T T R B ST T 5 5
AsBE
(K% +TTE L) KRS E O T T T a5 | 2 0.5 0.5 m3
il BHO.13 S B T T R B ST T o 5
—
B (1) BHO.13 S B T T R B ST T & 7
= ’d
Bt BHO.13 S O T T R B ST T T s
= Fu .
R (B AERA40-0) |10 1 S BT B ST T 31 3 m3
Py
(K%L T T3 ) 16.6-4.1/0.9 12.0 12 m3
T
(ARELLTTEH L) |tz Aantcons 12.0 12 m3
FAEMEA40-0
2 fie s
R t=20cm ST T R T L T B B ST W 5 5
FRPEOM 25
2 fie s
R =12¢n ST T R T T B B ST W 5 5
- " T As13
Al
AR LRI - 2o ST T T T R BT B 5% Y
sy
T AT 7 VNBERS ALy B
(K& LT T [ImyIEEs 0.5%2.35 1.2 1.2t




HWKEDBIAESE 49

HKEUEI tIHELHE

Tt T3E Al [RH]
B=
@3 & s a5 | Hf
Astl# t=15cmBEL T 29.2 29.2/m
HERBUELEAA T [t=10ecmlL T 8.8 8.8|m2
AsHRIZ DP2t 0.5 0.5/m3
A BHO0.13 8.8 7.8 16.6/m3
BRE) BH0.13 3.2 3.7 6.9/m3
BREEL) BHO.13 4.1 4.1/m3
BR(EERR40-0) BH0.13 3.1 3.1/m3
FEH BLRE0-0 8.8 8. 8/m2
R HBREN-25 8.8 8.8/m2
AR TR IE) BEAIS 8.8 8.8/m2




HWKEVBIFES H4)

&R
WAKEUVET (No, )
EHIETERI : As
TTITErE1  PP@20 THEI & L= 146 m
#H Al = - " .
(9—FNo, ) H ATEE M E | B
Astl R
t=15cmlL T |14.6 X 25 29.2 m
S IREUELIEAA T
t=10cmLLF |14.6%X0.6 8.8 m2
AsIRIEM
DP2t 8.8 xX0.06 0.5 m3
izl
BHO0.13 146x06 X1 8.8 m3
BERGED)
BHO0.13 14.6 X0.6 X0.36 3.2 m3
BRE#R)
BHO0.13 146 x0.6 Xx0.35 3.1 m3
TEMREE (BERR40-0)
t=20cm 146 X0.6 8.8 m2
B R AR (RIEA A M-25)
t=12cm 146 X0.6 8.8 m2
=EIREIR)
BHZAs13 t=3cm [14.6 X 0.6 8.8 m2
$HEETER G
T THrE2 PP ¢ 20 T8I = L= 170 m
i Al - wr = .
(A—FNo, ) ATEE B E | B
izl
BHO0.13 17x0.6 X0.76 1.8 m3
BERGED)
BHO0.13 17 % 0.6 X0.36 3.7 m3
BREHEL)
BHO0.13 17xX0.6%x04 41 m3




